HIIEIEZR AR S)

SHINE WEI ENT CO., LTD.




WF-H & 7%
WEF-H SERIES

Overview

® Type : WF42H~WF180H
® Backlash : <3-8 Arc.min

® Ratio : 1/3~1/1000

@® Capacity : 0.05KW ~ 11KW

:WF42H ~WF180H
2. <3-8H

: 1/3~1/1000

: 0.05KW ~ 11KW

SHine WE




s REESN#E—WF42H - WF180H

- BACKRR

1. AL-6061-T6 , REB[5 B F, & HE R, SRS

2. WAEHE—BARE ESARBEMOERGER
BERRLE

3. URERENERSEESEFTERLES

« Input Flange

s AL-6061-T6 , Surface is Eloxal to improve

the antioxidant capacity and high quality.

2. Input flange is One-Piece design for sun gear and
servomotor shaft get excellent concentricity.

3. Use to any brand servomotor or step motor.

REEE S
%mnmﬁ 4 el o) &3l
14 A -3k W o] 7 ALE-
« Input shaft Bearing
Using high speed and low
loading type bearing, it is
excellent design for high

speed input of servomotor.

TEENIERRER o, W E, SEE
* Use full arrange needle pin for anti-abrasion and higher precision.

>
N
2
1o

Rk

&umﬁ chebet A HE FE o) A4

A9t

3 o Ty EHIE,

TEH A0 1A Tk 4] 870 A4 TS

Sun Gear and Input Shaft

: With high precision bushing is easy to set up with any brand mm_.<0308~
: Excellent dynamic balance

: Optimum mass moment of inertia.

: To modularize assembly design for rapid reaction customers all gear

« BB EANEIR
BALHENEREASBEEMEASEERNSE,
BEE I AR B In A R ENELE RERE

« Input Flange and Inner Gear Box
The input flange using high precision bearing to lead
assembly, Let the input to output shaft center has excellent
concentricity for reduce vibration.

ﬂanL

b w2

N _Q ox

BOON= * BDWON=

2z
UAY LAZ F47)0 LY AL &R, wl Ho]
347 g g} & WlofR 9 %mowm__g FHE
Agsti doltd ak5 % Sk 8% ﬁ

« Output Shaft
Shaft is One-Piece design, for ensure the
planetary gears could accurate
transmission. Enlarge the front bearing
and larger span to rear bearing for largest
radial and axial loading.

39

ratio requirement.

401%_0*
sz.m& =7hea

240] ol

<710
A% FE7% AL, dejA)el gl ez Gk
HolLta vekz 0] 23 4] 45

« Inner Gear Box
High strength alloy steel. Gear is Helical gear
design for high-precision, high abrasion and
lower noise.

m”%mﬁén_x_.o_QMMﬂ wl
Aoy A53 s ﬁ&f

. mc:\_u_m:QmQ Gear

1 : High strength alloy steel, high
hardness of surface,
anti-abrasion and high impact .
: Gear is Helical gear design,
high efficiency, lower noise

and lower vibration .

SHine WeE




s WF-H R5-148E

B | oL (D WF60H | WF90H | WF115H | WF142H | WF180H
36.0 116 238 571 1050
38.0 122 250 599 1103
36.0 117 240 575 1058
34.0 108 229 533 983
34.0 110 225 538 992
33.0 103 212 506 936
310 102 208 496 918
36.0 116 238 571 1050
38.0 122 250 599 1103
36.0 117 240 575 1058
36.0 116 238 571 1050
34.0 110 225 538 992
38.0 122 250 599 1103
36.0 117 240 575 1058
34.0 108 229 533 983
34.0 110 225 538 992
33.0 103 212 506 936
100 31.0 102 208 496 918
2EHE  (Nm) 3~100 3fEFEEHENE (Nm) i
EEWAEE Nin (rpm) 3~100 3000 | 3000 3000 2500 2500
BABAEE (rpm) 3~100 6000 | 6000 6000 5000 5000

3~10 =3 = =3 =3 =3

EEHHEAFE Ton (Nm)

BEEE  (arcmin)

15~100 5 5 5 5

3~10 5 5 5 5

EAEEIPE  (arcmin)
15~100 = =7 = =7 =7 =7

, 3~10 . 43 32 65
HRMLE (Nm/arcmin) 15100 . 26 . 19 39 87
BABHEEA Fas (N) 3~100 2400 4000
BABHME S Feas (N) 3~100 1200 2000
ERSE®m  (hrs) 3~100 20000
ERRE (°C) 3~100 -10°C+90°C
i 3~100 B REBHAE
ZRAEM 3~100 ERAEME
BEE (dB(A) 3~100 B =60 | =63
L1 3~10 =97%

L2 15~100 =94%

L1 3~10 37 8.0 14.2/15.2
L2 15~100 ) 4.1/52 | 88/105 | 16/20
3] L1,L2 3~100 P65

D ORCEREE = a) Rk f5 i AR (rpm ) /JBCER A 1 i 21

P HIRERAE 2% BERIHIER THG

s AR/ e ) B EE A SR AT R 100rpm, HL7E T AE S Hidh oL B

D G, Sy B

DR Rofe) ik i A ER3000rpm, R EREE 1OLL, S S 3K, BERCEREE 1M HYBE I T Tl
D AERPARARAS R A S S I U/ AL s

BE (%)

58 (kg)

Sune Wel




= WF-H Z5l

TU5REAAL -

WF60H —— LI

R
WF42H
WF60H
WF90H
WF115H
WF142H

B

L1(—B¢Hi)
L2(— e Ebi)
L3(Z B b

LK

fil /25 e J 2 1Y
Jag R - RU AR Bk B
REACHR o MIRRR
151-152H o

CLE

MERHERRER S(HhshAE O
HREEHEB Kk hmER)

B
R 1%

— B LB

B RR L

= Bl LB

WF42H

3,4,5,6,7,8,10

15,20,25,35,40,50

150,200,250,350,400,500

WF60H

3,4,5,6,7,8,10

15,20,25,30,35,40,50,60,70,80,90,100

150,200,250,300,350,400,450,500,600,700,800,900,1000

WF90H

3,4,5,6,7,8,10

15,20,25,30,35,40,50,60,70,80,90,100

150,200,250,300,350,400,450,500,600,700,800,900,1000

WF115H

3,4,5,6,7,8,10

15,20,25,30,35,40,50,60,70,80,90,100

150,200,250,300,350,400,450,500,600,700,800,900,1000

WF142H

3,4,5,6,7,8,10

15,20,25,30,35,40,50,60,70,80,90,100

150,200,250,300,350,400,450,500,600,700,800,900,1000

WF180H

3,4,5,6,7,8,10

15,20,25,30,35,40,50,60,70,80,90,100

150,200,250,300,350,400,450,500,600,700,800,900,1000

Sune WE




s WF-H BRlegg R7INE RTE/ &R L1

(EEfiz:mm)

WF42H

WF60H

WF90H

WF115H

WF142H

WF180H

A1

50

70

100

130

165

215

A2

3.5

5.5

6.8

8.6

11

13

A3

35

50

80

110

130

160

A4

13

16

22

32

40

55

A5

15

18

24.5

35

43

60

A6

5

5

6

10

12

16

A7

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

M16x2.0P

M20x2.5P

A8

56

80

116

152

185

240

B1

42

60

90

115

142

180

B2

15

20

30

40

65

70

B3

2

3

3

5

5

6

B4

25.5

34.5

51.5

66

97

105

B5

1

1.5

1.5

2

3

3

B6

5.5

7

10

12

15

20

B7

4

6

8

10

12

15

B8

22.5

33

39

47

56

63

B9

33

41.5

55

70

98.5

108

B10

26

31

43.5

56

83

87

B11

17

21

30

8

20

8

B12

85

115

153.5

193

263.5

291

C1

42

60

90

120

176

176

C2

46

70

90

145

200

200

C3

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

M12x1.75P

M12x1.75P

C4

30

50

70

110

114.3

1143

C5

5~8

6~14

14~24

16~24

24~42

24~42

1.BO~CORBRENERERRT  BRERIBABEERIEAMES, ANFECHKUMRE151-1528
2B1I2RILBRMERARBSEFTAMENL, NFFANERIBEBELT

Sune Wel




» WF-H e RINE RSTE &R L2

(EEf1:mm)

WF42H

WF115H

WF180H

A1

50

70

130

215

A2

3.5

5.5

8.6

13

A3

35

50

110

160

A4

13

16

32

55

A5

15

18

35

60

A6

5

5

10

16

A7

M4x0.7P

M8x1.25P

M16x2.0P

M20x2.5P

A8

56

80

152

185

240

B1

42

60

90

115

180

B2

15

20

30

40

70

B3

2

3

3

5

6

B4

25.5

66

105

B3

1

1.5

1.5

2

3

B6

5.5

7

10

12

20

B7

4

6

8

10

15

B8

55.5

70.5

47

115

B9

33

41.5

55

70

98.5

B10

26

31

43.5

56

83

87

B11

17

21

30

8

20

8

B12

137.5

185

193

310

333.5

C1

42

60

90

120

176

176

C2

46

70

90

145

200

200

C3

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

M12x1.75P

M12x1.75P

C4

30

50

70

110

114.3

114.3

C5

5~8

6~14

14~24

16~24

24~42

24~42

1.BO~CORIREMEREMRT -

Sune Wel

BERRTERBERRTAMED, ANFECRKMRFE151-1528
2B1I2RIBERMERARSFSEFAAMENE WEFANERIFEBELS




LT R

¥ + +4 4
L -

e
-¢_+.|-|.~

-k
*

Ed

Ll
bbb
e
e Ll AL
SRR
e [
Bas
&#
-
o
= 22
i
i

A

4 e

W,




